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i 5 ACHE (EPSON5) = 100 300 400 830 400 450 100 830 400 450
100 630 100

SP: 1000-0110-1100-0001 (6, 8, 1)pass

SP: 1000-1110-1100-0001 (2, 3, 4)pass

I 7 ACHE (EPSONT) = 20 300 450 830 300 400 20 830 300 400

20 810 20

SP: 1100-0000-1010-0001(1, 2, 3, 4, 6, 8)pass

B 6 ALK PR (EPSONG) = 100 300 400 830 400 350 100 830 400

350 100 630 10

SP: 1000-0110-1100-0001 (6, 8, 1)pass

SP: 1000-1110-1100-0001 (2, 3, 4)pass

B 6 AU PR (EPSONG) = 20 300 450 830 300 400 20 830 300

400 20 810 20 SP: 1100-0000-1010-0001(1, 2, 3, 4, 6, 8)pass
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BOFTKYE 7 ACHLE (EPSON71) = 20 280 450 840 220 400 110 840

220 400 110 865 20

SP: 1100-0000-1010-0001(1, 2, 3, 4, 6, 8)pass

BOFTIYE 7 ACHLE (EPSON72) @ 20 280 450 840 220 400 110 840

220 400 110 950 20

SP: 1100-0000-1010-0001(1, 2, 3, 4, 6, 8)pass



B K E 5 ACH E (EPSONST) : 100 280 350 900 220 400 110 900

220 400 110 720 100



